25-5 Drop-stitch Sweater

Suggested yarn:

* Pierrot Yarns Abbey [100% wool; 59 yds/54m per 1.41 0z./40g skein];
+ kids' version: color #95 off-white, 2 skeins [60g]
+ ladies' version: color #98 rainbow, 2 skeins [80g]
+ men's version: color #91 khaki, 2 skeins [80g]

Mens

Tools/Notions:
+ 5.7mm (approx. US 9) and 6.0mm (US 10) knitting needles or sizes necessary to achieve gauge

Finished measurements:

+ kids' version: * ladies' and men's versions:
Ladies * head circumference 44cm/17.32" * head circumference 51.5cm/20.28"
* depth 18cm/7.09" « depth 23cm/9.06"

Gauge (10cm/4" square):
+ seed stitch: 14 sts and 26 rows

Gauge may vary according to individual knitting style. Change needle size if necessary to achieve gauge. Alternatively, rework pattern with your own gauge measurements.

---------------------------------------------------------------------------------------------------------------------------------------------------------------------

Summary
Body of hat: Cast on with long-tail cast-on method. Work flat in k1p1 ribbing and then in seed stitch. Refer to schematic and chart for shaping of top.

Finishing: Finish top of hat by cutting yam. Thread this tail through all remaining stitches and cinch top shut. Seam side of hat with mattress stitch.
Abbreviations:

CO = cast on

k = knit stitch

RE = row(s) even
#-#-# = rows-stitches-times

.
--------------------------------------------------------------------------------------------------------------------------------------------------------------------

© 2015 Pierrot Yarns (Gosyo Co., Ltd.). Translation by Linda Lanz. All rights reserved.
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Hat schematic
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Top decreases: adult versions

Top decreases: kids' version [] = [1]knit
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(+2 sts for seam allowance)
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